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1. Answer the following as directed : 1x7=7
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(a) State one Mercantilist idea approved by

Keynes.
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(2) (3)

(b) Mention one factor responsible for the 2. Answer the following questions in brief : 2x4=8
rise of Physiocracy. ©oT LRI BLF BT By -
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(a) Distinguish between Ricardian and
Marxian theory of value.
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(c) Point out any one anticlassical element
in Mill’'s economics.
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: - (b) Mention two reasons for downfall of
(d) Mention one important keystone of piatlo il
Smithian theory of economic develop- .
I
ment. TSR <E] T 701 FIe SeEd
g wefAfos CHEeR ©EoE @bl @egd (c) State the Ricardian theory of rent.
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Mention one limitation of Say’s law of s Jyhsd
(€ e lcets (d) According to Adam Smith, “Division oi
3 . S S labour is limited mainly by the size ©
928 ffe ot 3 AL the markets”. Explain in brief.
() Who started the Neo-Malthusian ww P WS, ‘v Remd ge T
Movement in England in 1820’s? _ W 5[ SR | ES{Z?‘ ] <1 |
Sry0d TEEANS AGS (A FG-TEAD
ICTE S PR ? 3. Answer any three of the following queSﬁOHSS: e
b4 =

was replaced by the

(g9 The term

term ‘economics’ in the late 19th century. @ 2aRE R e fefi Ted ferd

(CRillpjcheblansy) (@) Distinguish between Mercantilists and
_ xEgnl S «foFR SIS HANS Physiocratic ideas.
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(4)

(b) Discuss the Ricardian theory of value.

(c)

(d)

(e)
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Does Malthusian theory of population
apply to developing countries? Explain
in detail.
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How did Marx establish a relationship
between surplus value and technological
progress along with economic develop-
ment?
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How did Malthus oppose Say’s law of
market?
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Answer any three of the following questions :

10x3=30
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“Physiocratic Tableau Economiqueﬂ was
the first attempt of presenting inter-
sectoral flows.” Discuss.
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( Continued )

(b)

(c)

(d)

(e)
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“Malthus should be better known for his
theory of gluts rather than for his views
on population.” Why? Give arguments.
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Examine the. internal consistency in
Ricardo’s theory of distribution.
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How did J. S. Mill improve the theory of
international trade?
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Critically examine the Marxian theory of
surplus value.
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Write a critical note on Smithian theory
of distribution.
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